FITTING INSTRUCTIONS:

Y 1 PART No:
ROOF RACKS RCLM LIGHT MOUNT RCLM

Heavy Duty Light Mount Fig 1a. 2 ? oo

. 1

Parts List: (Refer to Fig 1a.) X
2x %Slug Nut
(22-0575)

Bracket
(22-0013)

1x22-0013 LIGHT BRACKET
1 x 22-0356 SECURITY KEY (Grey)

2 x 22-0347 M6 x 25 SECURITY BOLT )
2 x 22-0043 M6 FLAT WASHER N— S

2 x 22-0132 M6 SPRING WASHER Flat Washer 1

2 x 22-0575 M6 SLUG NUT 2x (22.0043) ‘

Security Key (Grey)

1 x FITTING INSTRUCTIONS
(22-0356)

Spring Washer
x S (22-0132)

PROCEDURE : Fitting Kit to Cross Bars

STEP 1: Preparation of Cross Bar
A. Position where required and cut buffer strip to suit Fig 2a.
M6 Bolt

STEP 2: Light Mount Pre Assembly Spring Washer

A. Attach Bolts and Slug Nuts loosely to the Light Mount including a spring Flat Washer
washer and flat washer each.

Buffer Strip

B. Slide the Light Mount into the Upper Channel of the Cross Bar as
(NOT IN KIT)

shown in Figure 2a.

IMPORTANT: Make sure both Slug Nuts retain their cross-ways

alignment within the channel. See figure 2b.
M6 Slug Nut Light Mount

C. Tighten both bolts securely with the Security Key.

D. Re-install Buffer Strip. See figure 2c.

* Regularly check the tightness of the Bolts and the security of the load.
Fig 2b.

Internal edges of channel

Slug Nut

Slug Nut
: 4 Notched grooves

notched grooves in Slug Nut must run
parallel with internal edges of channel

FAILURE TO FOLLOW THESE INSTRUCTIONS WILL VOID WARRANTY

www.rola.com.au Page1of1 39 ISSUEA




